
tr Tobles

t.4 + l0 :
2. t0 * B :
3. 15 - 6 :

4.8-3:
5.8*7:
6. t4 - B =

7.9 + l0:
8. t5 - 9 :
9.9*4:

E r0. t2-3:
H.8 * 7 :
12. t4-4:

tr
1.5 + 5 r 5 - 5 -
2.6+6+6-r-6:

t_lE
5.27 -t0+ t-
6. t2-4 * 3:

9.19-3*2:
10. 14-5- I : 

I

3.7 + 7 t 7 :
4.34-10+ I-

7.22 * 24 :
8.36 * 23:

il.
12.

+ Il :23

-5 - 14

E Numbers... Ring the number thot does not belong.

t. 2, 4, 6, 8, t0

t2

35, 45

7.60, 58, 56, 55, 54, 52

8. 10, ll, 13, 15, lJ, 19

9. 17, 15, 13, 12, ll, 9

10. 32, 34, 36, 37, 38, 40

I I . €0.05, €0. 10, €0. 15, €0.20, €0.21 , €0.25

12. 102, 104, 106, l0-l , 108, I l0

2. 3, 5, 1 9

3. 5, 15, 25, 30,

4 ll, 21, 22, 31, 4l

4,5, 7, 9, ll
6, B, lo, 12, l6

5. 3,

6. 4,

tr Length... Write the length beside eoch line.

6cm 12cm 4cm Icm l4cm l0cm 8cm 3cm

0cm

l,',1 iil ilt illl ilt Irl l|1 l 1| li

2.

3.

4.

5.

6.

7.

8.

c-'

C-

c--

c--

C-

c^-

cr-

cr-

Unit 15 - Qufek Questions

Gqtculbte.

.; .|
Z t- €

u1J


